REarR a3

3YTASY: ST TSI, Fhell: AT T TG JreT &1 Thedrea
IR (x + a)(x + b) TTAT TAEAR T, (x + &) (X + b) TT [d&AR

AT 1
1. Reear smm am.
a) (a+b)z=
b) (a-b)%=
2. 9g gt geet .
a) (X +2y)=x2+ +4y2,
i) 2x i) 2xy i) 2y2 iv) 2y
b) (x+a)and (x+b) &
i) TRTST ii) gfaady iii) Frafe iv) none

3.g$ﬁﬁ1ml=ri7rr

a) (5m + 3n) ( 5m —3m)= 25m2 + 9n2,

b) (x+a)(x+b)=x2+ (a+b)x+ab.

#HTIT 2

4. 78I 39 M.
a) (98)2= (100 -2)2= 10000 - + =

b) (101)2= (100 + 1)2 = + +12=

K i
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HTIT 3

ANz 3ean foeT:
5. I d IRA AT SAGBTIT AR (X + a)(x + b) IEAT [aFdR &7 .

6. TAFAR &I (x +2)(x + 3)

7. TAEAR & (M - 4)(m + 6)

B evi

N MHSB - 8 - a1fore: ReaR ¥ - 5 a2
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8. faTaR &1 (9x - 5t)(9x + 3t)

Section 4

Answer in detail.

9. AEarR &1 a) (m+3/2) (m+1/2) b) (m+2/3) (m-7/3)

B evi

N MHSB - 8 - a1fore: ReaR ¥ - 5 a3
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10. f@EaR &1 a) (x + 1/x) (x=1/x) b) (1/y+4) (1/y-=9)

B evi

L S MHSB - 8 - 71futeT: faFar q3 - 5 qreT:4
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B2t Vi oks

MHSB - 8 - 71f0Te: AT’ ¥ - 5 ;5



